

State of West Virginia Solicitation Response

Proc Folder: 359044

Solicitation Description: Hydroseeding 5 acres of cut slope in Lewis County US 19

Proc Type: Agency Contract - Fixed Amt

Date issued	Solicitation Closes	Solicitation Response	Version
	2017-09-18 13:30:00	SR 0803 ESR09121700000000988	1

VENDOR

000000160380

GREEN ACRES CONTRACTING CO

Solicitation Number: ARFQ 0803 DOT1800000005

Total Bid : \$12,750.00 **Response Date:** 2017-09-12 **Response Time:** 14:19:42

Comments:

FOR INFORMATION CONTACT THE BUYER

Dusty J Smith (304) 558-9398 dusty.j.smith@wv.gov

Signature on File FEIN # DATE

All offers subject to all terms and conditions contained in this solicitation

Page: 1 FORM ID: WV-PRC-SR-001

1 Comm Code 72102902	Agricultural limestone applied to cut	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
	slope	5.00000	ACRE	\$100.000000	\$500.00
	Manufacturer	Specification		Model #	
2102002		- Сросинскион		model n	
Extended Des	Agricultural limestone appli	ed to cut slope			
Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Hydraulic Application of Seed Mixture Type D	5.00000	ACRE	\$1,000.000000	\$5,000.00
Comm Code	Manufacturer	Specification		Model #	
72102902					
Extended Des	Hydraulic Application of Se	ed Mixture Type	D per acre c	of cut slope	
Extended Des	Comm Ln Desc		Unit Issue	Unit Price	Ln Total Or Contract Amount
		Qty 5.00000			Ln Total Or Contract Amount \$1,750.00
Line	Comm Ln Desc Hydraulic Application of Fertilizer per	Qty	Unit Issue	Unit Price	
Line 3 Comm Code	Comm Ln Desc Hydraulic Application of Fertilizer per Acre of Cut Slope Manufacturer	Qty 5.00000 Specification	Unit Issue ACRE	Unit Price \$350.000000	
Line 3 Comm Code 72102902 Extended Des	Comm Ln Desc Hydraulic Application of Fertilizer per Acre of Cut Slope Manufacturer scription: Hydraulic Application of Fertilizer	Qty 5.00000 Specification rtilizer per Acre	Unit Issue ACRE of Cut Slope	Unit Price \$350.000000 Model #	\$1,750.00
Line 3 Comm Code 72102902 Extended Des	Comm Ln Desc Hydraulic Application of Fertilizer per Acre of Cut Slope Manufacturer Scription: Hydraulic Application of Fertilizer per Acre of Cut Slope Comm Ln Desc	Qty 5.00000 Specification rtilizer per Acre	Unit Issue ACRE of Cut Slope Unit Issue	Unit Price \$350.000000 Model #	\$1,750.00 Ln Total Or Contract Amount
Line 3 Comm Code 72102902 Extended Des	Comm Ln Desc Hydraulic Application of Fertilizer per Acre of Cut Slope Manufacturer scription: Hydraulic Application of Fertilizer	Qty 5.00000 Specification rtilizer per Acre	Unit Issue ACRE of Cut Slope	Unit Price \$350.000000 Model #	\$1,750.00
Line 3 Comm Code 72102902 Extended Des	Comm Ln Desc Hydraulic Application of Fertilizer per Acre of Cut Slope Manufacturer Scription: Hydraulic Application of Fertilizer per Acre of Cut Slope Comm Ln Desc	Qty 5.00000 Specification rtilizer per Acre	Unit Issue ACRE of Cut Slope Unit Issue	Unit Price \$350.000000 Model #	\$1,750.00 Ln Total Or Contract Amount

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Hydraulic Application of Wood Cellulose Fiber Mulch	5.00000	ACRE	\$500.000000	\$2,500.00
Comm Code	Manufacturer	Specification		Model #	
72102902					
Extended De	Hydraulic Application	of Wood Cellulose Fil	oer Mulch pe	r Acre of Cut Slope	9
Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Traffic Control	1.00000	EA	\$500.000000	\$500.00
Comm Code	Manufacturer	Specification		Model #	
72102902					
Comm Code 72102902 Extended Des		Specification		Model #	

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract. Contract Administrator (Name, Title) Debra A. Blaser, Contract Administrator (Printed Name and Title) PO BOx 463 Scottdale, 15683 (Address) 724-887-8096 ext 115 724-887-8111 (Phone Number) / (Fax Number) debc@greenacrescontracting.com (E-mail address) CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration. Green Acres Contracting Co., Inc. (Company) James F. Humberston, Vice President (Authorized Signature) (Representative Name, Title) James F. Humberston, Vice President (Printed Name and Title of Authorized Representative) 9/12/17 (Date)

724-887-8096

(Phone Number) (Fax Number)

724-887-8111

ADDENDUM ACKNOWLEDGEMENT FORM

SOLICITATION NO.: ARFQ DOT1800000005

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification. Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received: (Check the box next to each addendum received)	ived)
 X Addendum No. 1 ☐ Addendum No. 2 ☐ Addendum No. 3 ☐ Addendum No. 4 ☐ Addendum No. 5 	☐ Addendum No. 6 ☐ Addendum No. 7 ☐ Addendum No. 8 ☐ Addendum No. 9 ☐ Addendum No. 10
I further understand that any verbal represent discussion held between Vendor's represent	pt of addenda may be cause for rejection of this bid. Itation made or assumed to be made during any oral atives and any state personnel is not binding. Only to the specifications by an official addendum is
Green Acres Contracting Co., In Company Authorized Signature 9/12/17	James F. Humberston, Vice President
Date	

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.